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Instructions : (1)
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Simearsg slamrsseEnh sflwurs uerdl o deargr aaugmen
sfluriggs Garareteyd. Fauuglede GopudmuGa
SieepseararenuUreTfl b 2 L anguirss Cgfebissaib.

fab sidag spuy ewvil@mern vl HGL pgIRENE. ! LILSTUGSS
Gauamr(Ro. L miseT euenTeugH@ Guaréld LwaTuREse .

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Black or Blue ink to write and pencil to draw diagrams.

@Oy : Coamawrar QLifle LLD umrhg. FLRTUTHSMET (.
Draw diagrams and write equations wherever necessary.

Note :

GIoyY :

Note :

&3 - 1/ PART - 1

(i) Smensg eSammasepsEn almiwelssay. 30x1=30

(i) eflurer el ewsd Carsbhss eTpss.
(i)  Answer all the questions.
(i) Choose and write the correct answer.

1. wgeor srphld fe wearfl Crrb SIL@ meusg Gurg o am rEn GeauéEn

Sumrmar

(®1) QuyTéems® () b

(@) INT () Guir é®E(H

When ether is exposed to air for some time an explosive substance produced is :
(a) TPeroxide (b) Oxide

(¢) TNT (d) Super oxide

| Smiys / Turn over
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2. grsmev sraflyLen Gausons efleneryflybd Gsirow erg?
(1) Oy CLem-1-gye (<) QuhtCi_eir-2-ey,60
(@) 2-Bpemge UrlGuen-1-® (F) 2-85amsd LrLGue-2-gd
The compound that reacts fastest with Lucas reagent is :
(a) Butan-1-0l (b) Butan-2-ol
{c) 2-methyl propan-1-ol a (d) 2-methyl propan-2-ol

3. éyeaeefldar eradlrrer siewiy

(1) [Rn] 50~ 640750 (<=p) [Rn] 5014 649-2750
(@) [Rn] 507 6402751 (%) [Ra] 5/9-14 620~2752
The electronic configuration of Actinides is :

(a) [Rn] 594 64070 () [Ra] 57914 6402750
(¢) [Rn] 57%~14 64°-275! (d) [Rn] 50~ 602752

4. Gauflsswvbleaolan semew :

(1) Quiigé swblae (=) Pavewreng
(@) foawpps () (21) wHDID ()
State of chemical equilibrium is :

(a) Dynamic (b) Stationary

() Unstable (d) Both (a) and (b)

5. . Qar@éfleeniiL Carwwré@n railssTer FTemm

(1) NO; (@) gCarmGyr (@) yGymor (m) en
An example of chelating ligand is :
(a) NO; (b) Chloro (c) Bromo (d) en

6. eaplynen apedsaflear Waaring srw :

(=1) 0 ()1 (@) 3 (F) 2
The bond order of Hydrogen molecule is :
(a) O ®) 1 © 3 @ 2
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7. Ceaamaueaunpsd ailsion aallnCapnsdaturg rasd Bimsd
& CLranens F(HD?
&) 2-LrliuenTd (=) 2-Quemn_Cenmres
(@) 1-QuLemmé (%) 2.9yl Lanred
Which of the following compounds is oxidised to give ethyl methyl ketone ?

(@) 2-propanol (b) 2-pentanone

(¢} 1-butanol (d) 2-butanol

8. SpssamLaupner og awldy CarempsEnde uwaLPAng ?

(1) Sy (=) @ gy erngoef]
(@) wsatélu e () &apw Came_
Which of the following is used for stomach disorders ?

(@) Argvrol (b) Colloidal antimony
() Milk of magnesia (d} Colloidal gold

9. &0y adamapild doa SiPs walluréEh hpeal QupmeTarg ?

(1) &7 2 Gaorsmigst (=y,) srywaR o Canrsrisar
(@) Capagenser (/) 2 wflw eurysser

Among the following which has the maximum ionisation energy ?
(a) Alkali elements (b) Alkaline earth elements

() Halogens (d) Noble gases

10. Cergquid sdhaulLrag srpdlamd ss8mGahnnd omLeims Gapuug :

(@) @dsanmd (=) V,05 (@) Pt () MnSO,
The oxidation of sodium sulphite by air is retarded by :

(a) Alcohol M) V,05 (c) Pt @@ MnSO,

!__B-_ [ Hipliys / Turn over
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14.

4

2 ufGergwitb ewaplyréme( Bhglear aleneryfig SpssaT. cubmer
THH 2 (HUTHGHEME?

(81) ZnH, (<) Na,ZnO, (@) 7ZnO () Zn(OH),
Excess of sodium hydroxide reacts with Zinc to form :

(a) 7nli, (b) Na,7n0O, (¢) ZnO (d) Zn(OH),

Hp(gy+laggy = 2H gy, cTam eflenemullen K, - @t gl 16 erafled K, - ullen i,

(=1 16 (@) (@) o4 (%) 16

Hz(g}‘l'li{g) = ZHJ-(g) , K.=16, therefore Kp =

a) — (b) 4 () 64 (d 16

offadafluey swearurliqed o drar ‘A’ eremg| :

(@) Blsipey 56y sTya () Slaiay pHDD
(@) Cursa sryenf () odlrtleuar et
The term ‘A’ in Arrhenius equation is called as :

(a) Probability factor | (b) Activation energy
(¢} Collision factor (d) Frequency factor

(n—2)f rdlLrasalle amBse aTR&E_JTATHET HMPU|ID ST DRSET
_ arar JepssluBdlng.

(=) sQarEd seflobisen () pEsTEd saflivmsd
(@) d-Qsres saflbrisdr - (7)) fOsred seflomser

The elements in which the extra electrons enter (n—2)f orbitals are called :
(a) s-block elements (b) p-block elements

{c) d-block elements (d) fblock elements
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15. =x@i@peyd 2hpe Sflsd Qarare sflTeiss erg)?
(<21) a-sgli
(=) B-5
(&) v-s8

16.

17.

18.

() BinesgId & pxr(REal Sanand UTLFS6

The most penetrating radiations are :

(a) «-Tays
ib) B-rays
{c) yrays

(d)}) All are equally penetrating

firgenrr( eSlemarliQur@ailar senrluranrs GewduBoug).

(1) eTEED YPOFAUDTE (<) dLersdled mer
(@) S8 GLmen () Quendan

The compound that acts as a solvent for Grignard reagent is :
(a) Ethyl alcohol (b) Diethyl ether

(¢) Acetone (d) Benzene

e el Quidlrd 127°C bHpb 27°C Jauluflawserss @i
QewduBéntsalie g widls uls ssais Hper
(=1) 20% (=1) 50% (@) 100% (r) 25%

The maximum percentage of efficiency of a heat engine that operates between 127°C
and 27°C is :

(a) 20% (b) 350% (€ 100% (d) 25%

Baeyd Gevenen erflung saflion eray?

(<) He (<=24) H, (@) N, < () Ar
The lightest gas which is non-inflammable is :
(a) He (b) H, (©) N, (d) Arx

[ Slgpliys / Turn over
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19. 2Cl ) — Cly, GﬁTgﬁ:@t:Ele AH vHmb AS wuusafler @dlaar wpeopGu
(34) +, — (=) +. + (@) -, - () —, +
For the reaction 2Cl .y — Cly ., the signs of AH and AS respectively are :
(a) +, — by +.,+ (¢ -, - (d)y -, +
H oC
20. :C =0 L0C, Qemarclanar Qum(meT?
HO
(1) CO+H,0 (<) HCOOH
(@) H,+CO, () HCHO+O,
H ¢
~C 0 20¢C ? The product is :
HO”
(@) CO+H,0 (b) HCOOH

21. QeagCarms Figs H,50, 2L AsrflsdamasEn Curg __~

Slen &8y

(=t) D BensGarev (24) D ollysGrme
(@) Qr&evigfemser () euLriées
When cellulose is boiled with dilute H,50, it gives :

(a) D-glucose {b) D-fructose

(¢) Dextrine (d) Starch

22. NaCl uyssdlév Nat sjwalenw @pbgierer Cl~ walsaflen eramaisans

(31) 12 (2)8 (®) 6 () 4
The number of chloride ions that surround the central Na* ion in NaCl crystal is :
(a) 12 (b) 8 (c) 6 (d) 4

23. Quenfen enwCeralwbd GCatrenrHier evg efenaryfluimg?

() Semmed (<) Quenen

(@) eflalien () Quensraigaman(

Which of the following does not react with benzene diazonium chloride ?
(a) Phenol (b) Benzene

(c) Aniline (d) Benzaldehyde




24.

25.

26.
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tpavdamler Hlawpbn H-Geamilbsrear sren :
(1) o-enn Gy Smnsb (<2 ) m-anpl_Crrliarme
Q) p-enplCrmienrey () HF
The intra-molecular hydrogen bonding is present in :
(a)  o-nitrophenol (b) m-nitrophenol

(c}) p-nitrophenol (d) HF

SEHGD LMFTD LmUSleT werreperer GaTwd 6tg)?

(<21) afedlen (<2} wplCrr B5Cgen
(@) Guenfar saCGurals ouflen () epl Cpr Quenden
Which of the following compounds has the smell of bitter almonds ?

(@) Aniline (b) Nitromethane

(c) Benzene sulphonic acid (d} Nitro benzene

SpsraTuaTeIDmET oTg FECITHEE QUIHSSLTATSMN?

(=) @irlenL ersaseny

(=,) p(HEET ETEEHHT

(&) Brrd ueLle EEpsCaravaney L HL Gardédns

() Brrd uELUDLES GErCstey LHNL S UFEGCLTmss QsTHEdns
Sucrose is not :

(a) A disaccharide

(b) A non-reducing sugar

(c) Hydrolysed to only glucose

(d) Hydrolysed to glucose and fructose

[ &miys / Turn over
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27. @ubHlilwd upiys saurtu@se -6 GuTE urliud seurUuLl_(perer
Qurmer QeuelCumydns.
(1) Qeutiuflene 2 uwi(Hid (=) Gauliid Genoud
(8) SNWSSD 2 uKmID (rr) Glele) sflaflagn Curg
In case of physical adsorption, there is desorption when :
(a) ‘Temperature increases (b} Temperature decreases
(¢} Pressure increascs (d) Concentration increases

28.

29.

30.

Cerypwib S G L HHlns Siblogger Cersgh Curg &lliyé
Sflgdean 9flens igd

(1) ewmdpg) (=) gopdlpgi

(@) wrpmd 2 arars () wasluwrdms

When sodium acetate is added to acetic acid, the degree of ionisation of acetic acid :
(a) Increases (by Decreases

(¢} Does not change (d) Becomes zero

2 Garg sriveaasald o Carsmsdr Gubmdrsr <afnGamn B

(=)0 () +2 (&) +4 () +6
In metal Carbonyls the oxidation state of the metal is :
@ 0 () +2 (€ +4 () +6

srienulbean eflenemudles FRAUEDL sMAwebsro :

(31) (CH;),NH (1) C,HNH,

(8) (CH;)3N () (GH;) NI~
The organic compound that undergoes carbylamine reaction is :
(a) (C,Hz),NH (b) GC5H5NH,

(€) (GHg)sN (d) (GHs)yN*'I™
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u@GS - 1T/ PART - 1L

@Oy : () gCsmub udlenenngl lamdsiEssE S wef. 15x3=45
(i) gpeuleury elarmeiin@b ey ddwg Brewt(d eursflukiseaflc.
eflen_wefl.
Note : (i) Answer any fifleen questions.

31.

33.

34.

"35.

36.

(1)  Each answer should be in one or two sentences.

Qamiuseiuisdlen Benauidar Qardrmamu g(ms.

State Heisenberg’s uncertainty principle.

umadlis iemel(®), 1pelldae ojaraliig et HEmEmeT TSI,

Mention the disadvantages of Pauling’s and Mullikan’s scale.

[ PO

- - . EalLl
1R

ol _TeTdaudmall LoD @iy aupss.

Write a note on Plumbosolvency.

H3PO, - 681 GT&LFTET Dienldii] auMDUM_enL. H(hHa.
Give the electron dot formula of H,PO4,
d- Gargdl soflohsa crp oGk &28gCany flawew QuodmluCsen?

——
=

Why do d-block elements have variable oxidation state ?

sruuf sGul ugakisme Daululu@sgd Qurwg eearar eflamarey
FHUHD?

What is the action of heat on copper sulphate crvstal ?

Agl® o | smellan ey ujlasrebn 231 Al hsdar aalld Digar Hamsay
rifed Teen? '

Calculate the decay constant for Ag!®, if its half-life period is 2.31 minutes.

[ Simluns / Turn over
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39.

40,

41.

42

43.

a4.

40.

47.

10

Sigidled sLESHE sTarpTed eTemen?
What are super conductors 7

E7 (373 K) — B776dl (373 K) areitn Glewdbppmpdie e Cr1ll wrhnsmss
Farsd (. _"1[‘1”:'}.. = 30850 Jmoi~ L.

Calculate the change of entropy for the process, water(lig) to water(vapour 373 K)
involving AH,, = 40850 Jmol =1 at 373 K.

sSlanentd GammaHd eueTILIM.

Define reaction Quotient.

sfadaflwse swatur_en erpdl ellardEs.

Write the Arrhenius equation and explain the terms.

ellanan Guend auEnTLIM),

Define order.

o wWisHaer eranmna sTanan? @(FH 2-STTED H(HE.

What are promoters ? Give an example.

uryCLullen apasa elliflaws amg.

State Faradav’s first law of electrolysis.

Fifomismeney, 3CGer @ewwiy Capuisss

Distinguish Racemic form and Mesoform.

geaflegrslladlmpg crévsumm sop  Grr featsflen swrfiss iufidng?

Hew is nitroglycerine prepared from glvecerol 7

Sewmapasran sTwé Cergamanany (553

Write the dve test lor phenol.
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18. Gpreenwem @HESD erenpmed eTemen?

What is Rosenmund’s reduction ?

49. ariur&fledls slwsms sam_dlegnatal @m Congoaames H(Hs.

Write two tests to identifv carboxylic acids.

. HNO» KCN | H,0" :
50.  CeHsNHy —5zppger— A oy CN B » C A, B, C-anw sahls.
. HNO, KCN H,O% _
CeH5NH, A HCT A Cu,(CNT, > B » C. Identify A, Band C.
51. empemen - 66 sduauTn gWTNSSLUHADSH? SIS R LS H(H5.

How is Nvlon-66 prepared ? Give one use.

u@d) - 11 / PART - I

G@HIUY : paCeurm GfleladBhgn G@mnbs ULsb @) edlamasamar G‘g,rrpﬂg,@:g@
Congsid e edanmésEndeE efanwaf. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.
Sifley - < / SECTION - A
52. wlbiprsGar swanumeor aumed).

Derive Debroglie’s equation.

53. Seeulr sigen gngefedmng ereucurm NfsQsRsaLLEADS?

How is silver extracted from its ore ?

54. rhgear(h) Gnasdar ellenaTe et wiranau?

What are the consequences of lanthanide contraction ?

B | Hmlys / Turn over
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55,

56.

58.

59.

60.

61,

12

oemamey GCeivs _hflu @aerdpst dmaniys Gardanslian &

Gi
qlh

Cardisene )&,

Write the postulates of Valence bond theorv on coordination compounds.

Sifley - gy, / SECTION - B
Qeulu Quissawd Qrarinbd odfuilar uoGeumy apmsmer o LEs.

State the various statements of second law of thermodynamics.

QagrHepennuder Qumoenedler SO, gwrfligene der T o arn romb
efleng 5.

Apply Le-chatlier's principle for the manufacture of SO, by contact process.

R PSP cuens cllenan 99.9% Hlanmey QumieugnE THsgs LETamEEL CRTW
S@raunpey Crrgms Gurd 10 wLRETED erar Hend.

Show that for a first order reaction the time required for 99.9% completion is about
10 times its half-life period.

Benge sifledweller sramiuin gGsmibn mrg QeTh@pr_tzaarl undl
TUDSIS.

Explain any five terms in cell terminology.

Wifley ~ @ / SECTION - C

aLergda et surilaghd gCaeb e (LPaMMDSHMET (PSS

Give any three methods of preparing diethyl ether.

aaflu oL Te elamandarar ellenen euld apewu feT&E@s.

Explain the mechanism of simple aldol reaction.
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62. Sl ydeffimhg w1éns Sflwn aewry GsnEasluipau? wrbhs
Sidlad st HyS0, 2 Len yilyd ellemeaiamu eflarées

How is lactic acid synthesised from acetvlene ? Explain the reaction of lactic acid with
con. ]:]2501.

63. wWWIES WHHFHS LD GHLL umys.

Wrile notes on anaesthetics.

u@$l - IV / PART - IV
GOy : () OClorssn mBrenE canssEréE edlawafl, 4x10=40
(i) efewr araw 70 - @ SLLnwors lw wafidsiurd Cauam@n. ©
Bpusrer cllarssailsr gGaebd ey flanmésenss el we.
Note : (i)  Answer four questions in all.

(1)  Question number 70 is compulsory and answer any three from the remaining
questions.

64. () eredLpne BT gang LTdaEn LGy srrafismer elerses.
() erenaurmy 2wl auryssa srpddimibs ANsAsHEs0LGREeme
erenueng etfleurs afeufl,
(@) Explan the various factors that atfect electron affinity.

(b) Describe in detail how noble gases are isolated from air.

65. (1) [Ni(CN) )P~ @Lwrarhssd sy Gararig, [Ni(NH,),)2* UNTTETHSS

g Caram._g). efars@s.

() sHMb&s RCsrCLriyseien Lweamamer Gaaumpb elwmer aufpan
siflgelld vwauPaums GHILAES.
(i) ereévi Brrd vEly enen
(i) greurmsefler galléCerama

(@) [Ni(CN),]>~ is diamagnetic, whereas [Ni(NH,),]2* is paramagnetic. Explain.

(b)  Mention the use of radio isotopes in the following mechanisms :
(i}  Study of hydrolvsis of ester.

(i) Photosvnthesis in plants.

[ ﬁ@ﬁq&i / Turn over
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66. () efleul :
() egrldl @eonur®
(i) UGlymsa @Geoourh
(=) @ uggsrar eflamarCaisorhns Werarensililaar ellarsEs.
(a) Explain :
(i)  Schottky defect
(i) Frenkel defect

(b) Explain the theory of homogeneous catalysis.

67. {=y) Qapeir e Fwaturiean eumel.

(=) WenswsHamer GHLAGWL IUPAC dlflpeapaamer updl GHILGIL(HES.
(a) Derive Henderson equation.

(b) Write the IUPAC convention for writing cell diagram.

68. (=) aumerws Oamssarrelean e amwbliyseaer efleufl. Geumdler
flenagsanenn UDHls GBlIGs.
(@) urTdls SBsHOGD A ws SBEHDGDL arer GaugLrBaer
Wimeneu?

(a) Describe the conformations of cyclohexanol and comment on their stability.

(b) Distinguish between formic acid and acetic acid.

69. (=) EOLY suenrs.
iy arienueben eflenar.
(i) Guersaiiena{d 2 (HeuTSHe.
(<23) GEBECandlan sl erauaurm s@Helss LB Eng aums dlabss.
(a) Write notes on the following :
(i)  Carbylamine reaction
(ii) TFormation of benzanilide

(b) Elucidate the structure of glucose.

g| June2015
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70.  (<=1) CHO eranp sfwéCeiobd (A) pHflawwrar FeCly e e sagr Hlngeng

snéEpg. Gaiwib (A) Brom ZnCls apenaflameauiier NH; o e eflenarflBs)
Garob (B) - anw (Cgli;N) smélngy. Camob (A) et Gogdld soCul (R e
slewaryfizg (C) eow (GHO) sméimgl. (A), (B) Lopb (C) & sanLdlbg)
eilenengener oflend@s.

(=) QarEd eram 11 LPMIL euflens erawr 4 - 6 z¢rer (A) ereny 2 Carsd (B)

(b)

(<)

(d)

erenm gvenl(Hsatien saamaitar srgiedld Qmig 9NSCsHEsLILGE DS
2 Corsid (A) pengy 2L H,S0, 2 Lan eflenanfibg) (C) - eow Hpdlma).
(A), (B) wpmib (C) - B sam_dlig elmarsener dlersEs.

NN
C,H,O eremn &g GsTwbd (A) Lreeran ofleneat Qummaner @iH&EW0
Gsrwb (A) earg Brop Csrgwin HFALCLL warafmouie Sl iys
<2fla HRelyér efeneryfbg Hlanmeynrs sidlelorer (B) - o smEme).
Geiwb (A) eng AL CLrayen arypsdlen eaafemauila sllenaryflbs
G (C) - e smADa (A), (B) womid (C) - & sarLming elenarsenar
SlerdEs.
0.2 sraip G BlaGarrL_geng 50 HldlLmsear Ceagggn Gurs
01978 &. sriut Spugeirdngl. sruuflar WaGeaidls swren Hanpenwo
eSS (N3
An organic compound (A) C;HO gives violet colour with neutral FeCl, solution.
With NH, in the presence of anhydrous ZnCl,, (A) gives (B) (C,H-N). (A) with

dimethyl sulphate gives (C) (C;HgO). What are (A), (B) and (C) ? Explain the
reactions.
(A) occupies group number 11 and period number 4. This metal is extracted
from its mixed sulphide ore (B). (A) reacts with ConcH,SO, to form (C). Identify
(A). (B) and (C). Explain the reactions.

OR

An organic compound (A) CGH.O reduces Tollen's reagent. Compound (A) reacts
with acetic anhvdride in the presence of anhvdrous sodium acetate and gives an
unsaturated acid (B). Compound (A) reacts with acetone in the presence of alkali
and gives (C). What are (A), (B) and (C). Explain the reactions.

0.1978 g of copper is deposited when a current of (.2 ampere is passed for
50 minutes. Calculate is the electrochemical equivalent of copper ?

-00o0-
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